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Chapter-4
POWERS

WORKSHEET

Multiple Choice Questions (MCQs)
Question 1: a™ x a" is equal to
(a) (@%)™ (b)a™"

(c) amn (d) a™

Question 2: (1° + 2° + 3°) is equal to

(a) 0 (b) 1 (c)3 (d) 6
Question 3:
10% +10%° |
The value of ———1S
10

(a 10 (b)10*4? (©) 101 d)10%

-2 2 -4 4

—_ b) = VAL d) =

() 3 ( )3 (©) 9 ( )9

Question 4:

L A
Which of the following is not equal to (T) 7

(-5)* 5¢
= (b) 7

(@
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Fill in the Blanks:

In questions 5 to 8, fill in the blanks to make the statements meaningful .
Question 5:

2 x (=P =(-2)~

Question 6:
(-3)°+(-3°=(-3)"

Question 7:

11)° g (11)9
B X > - —
(15). ( 15
Question 8:

-1 _(-1)" _(-1)"
. X | — = —
&) EF) )
True/ False

In questions 9 to 12, state whether the given statements are True or False.
Question 9: 3% > 43
Question 10:

_3)10 _ 3100
('5—) " g

Question 11: (10 + 10)*° = 10% + 10%

Question 12: x° x x° =x° + x° is true for all non-zero values of x.
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Question 13:
3 6 2m -1
Find m, so that (2) X (E) = (-2-) .
9 9 9
Question 14:
2 0 3
il (3) & (2) , find the value of (ﬂ) .
g \2 4 q
Question 15:

2 3
Find the reciprocal of the rational number G) + (g) 2

Question 16: Find the value of

(a) 7° (b) 77 +7’
() (<77 (d) 2° +3° +4°) (4° -3° -2°)
(€) 2x3x4+2°%x3% x4° () 8° —2°) x (8° +2°%)
Question 17:
» 1
Find the value of n, where n is an integer and 2" ~° x 6%" ~* = T

Question 18: Express the following in usual form.
(a) 8.01 x 107 (b) 1.75x 103

Question 19:Find the value of
(a) 2° (b)(-3°) (c)— (-4

Question 20: Express the following numbers in standard form.
(a) 76,47,000 (b) 8,19,00,000
(c) 5,83,00,00,00,000 (d) 24 billion
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